EARAROBEEIERT — 2 N— IBISH —F

2019108118 (&) 8mEAH5H

Pl SR 3m® <

1 0 0 5K

EZS

] ‘[%iﬂ%ﬁaﬁ] — | & (&) 1300M =

[A~&£] 17 :1,100,000  ~ 23 :385,000 37 :220,000 3

4 7% :165,000 F 5 3& :110,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. HBEA 24, -3-3- 0 - KEFESE (HF)
1zl 712777097 R 1(2_4)9 3395 1390 ! fﬁ; () A
L:b—t>va—4gr BYIR/ TN FEapse]
o r jt 3 | RAER 1:25.0 2-2-2-2 [39.3| — 2 462 | /NARE ()
2 2 f—=t>777— 54.0 (172) (—) BI&E
L:woNnNyghT7x B:Tarx45937> EERN e
g S 4 3 | mEY 1:25.6 1-1-1-1 |39.9| — 1 447 | TREfRER GAF0)
o : BB AE 56.0 ® s |ZU=29 K ()
LNX—HNK BANILEYRRT BHE IE
= — s 3 | REMGL 1:25.9 7-7-4-4 | 38.9| — 8 484 | REIIR (A7)
4181(10 J14ZZEX 54.0 (11/2) (+9) HHEFE—ER
R:AMvagayy B:7UYCErO- BH# it
N . . EiEEh :26. 46— . — HHIEX (&)
slolg| T—wRILH b s AR B A P ® mmee
RgAFT v b BHITT 1y E— Tlj::bie]
. AR :26. e 5| — BEHS (B
6lalgl=ss9 b 4 3 i 1(72?‘:;5 5-5-7-7 | 39.5 6 (4+734) REaz
RHh—y B=Y)T4A4—Y H—RFIN—9 229K
. FRITHRL : -0-8- - FHIEE (@)
2 NPETE=FE I 43 o 1.(247).3 8-9-8-9 | 40.1 7 (4_817) Rz
R:A—-X*¥>T& L 8:hRKIL—Ix LR
. A g . Q10— — EHimaE GaFn)
8 4| TS Y- 4 3 £ 1(/72{:) 9-8-10-8 | 39.9 10 <5+516) s
R:T—9T74=-X B:TLT1HT5T HE SR
. BEA :27. -10-9- . - Lgye Geagn)
olsls 375 /£ B3 BEx 1(/37;; 10-10-9-10 | 39.7 3 (1142117) e
LU BiaAFTT)R HFAYREy K
— S pe jt 3 | Rtk 1:27.7 6-6-5-5 | 40.7 | — 9 420 | BH—RI GAFN)
10[1]1|7=¥=nb 70 (@ o |FHH
R:2— MR B:o)y7EeT EBRT7—L
® 1—F—@EBIERL
13—4— 3,2,7,8,9,1,10,6,4,5
23— — 3,2,7,8,9,1,10,4,6,5
Ja=5= 3,2,7,10,1,8,9,6,5,4
40 —F— 3,2,7,10,1,8,9,4,6,5
[ N5
B 7 800H 714K 2-7 220M e E 2-7 830M JEE 2-3-7 520
B B 7 140 3-7 230M e B 7-2 3,050 JEE 7-2-3 7,940
2 100M 2-3 1504 B & 2-7 940M
8 110 B H 7-2 1,830

ABICOVWTRDTEEERROODE. TR LIV,



